gboogn 2000000000000

d201500000000000p>

A0 0O0

i] oooooDooo
(1) 0o f(r)=x222(zxx0) 00000 (x)>0000000 00000000000

(2) DoD 2*=x200000 300000000000000
(3) DOD 2*=x20000000000000000000

A cooooooo
(1) a=VI3+/9+2/I7T+/9—- 2700000000000 40000 f(z)0 f(a)=000000

D000z 0000 10000000000

(2) 8oooO
+J13 + J9+ 217 + J9 — 2417

0000000 £ 0ooooooooooooooooo()oooo f(e)ooooood f(x) =00
00000000000 00000D0DO0000O0D0ODO0OO00Ono

3) )oooo f(x)=000000000000000000000000O0

g e0000000O00OIO (>e00000000000OO0O0OO Ciy=e*000 y=t(x00O
00 20000000000000 2000000000 P, 000000 QOUOOP, QO xO00000O
00 a, f(a<B)000D0000POOOD CODOOO0 QODODOO COOOODDDO ROOD

00 C, 0000 20000 r=a,x=(00000000000 Sy,

00 CO0OD0 20000 PR,QROODOODOODOOODOO Sy

gobooboobooboboobg

(1) %%DchBDDDDDDD

(2 a<%36<mmﬁDDDDDDDDDPm§%DDDDDDDDDDDI>ODDDex>ﬁDDDD
0000000000000

oooooDoo 1,2,3,4,50 50000 10000000000000000000000
000 1000000000 100 200000
DDDk(k:&3¢DDDDDDDDDD—%DDk—lDDDD—%Dmk+IDDDDD
000 5000000000 100400000

000000000000 1000000000000 00000000000000000000000Q
000000 1000000000000 000D00M 0000000 ooooon
(1) Doo 6ooo0oOoODOOOOD kR(R=1,2,3,4,5)00000000000000

(2) D0OD 6000000DOOSOODOOOONDOOOONDOOODODOOOO
(3) Doono (21)0DOD0O0O0ODO0O0O0OD 3000000000000000D0O0O0

©ooooo0000onoodmakoto



20lb000000o0oooo goooo

@000

opoooooo C:x2+(w—1)2=100x000 20 P(—4a,0),Q(0, 0) 000000000

a>0,b>0,¢bx100000 P,QDODODOOD CO z00000000000000 200000

000 ROOODODOOOODOOOOOO0O0O0O

(1) DD QROOODDDDOOO

(2) ROoOoOoO a,b0000

(3) RO yOOOODODOOODOAPQRODOODO 7000070 @, b0000

(4) 20P,QUODODOPQ=40000RO0 y0000000000000000000O07 00000
0 e«00000000 70000000

g ooooooo 1,2,3,4,50 50000 1000000000000000000000O0

000 1000000000 100 200000
DDDk(k:&3¢DDDDDDDDDD—%DDk—lDDDD—%Dmk+IDDDDD
000 b000D0000D 100400000

000000000000 100000000000000000000000 200000000000

Ok(k=1,2,38,45)000000 Py(k)DOOOOODDODDOOOOO

(1) n=6000000 Pe(k)(k=1,2,3,4,5) 000000000

(2) DDOOOODODDOO0OO0O0ODODODOOD 10000000000000000000000 600000
0000bOIU0ODDDDOOUOODODOOOODDDOO

(3) n>1looooP,(3)ooOOO

B cooooooo

(1) (J9+2/MT+0—2V17) 0ODDO20000000000000

(2) a=VI3+/9+2/17T+/9—-2/1T00000000000 40000 f(x)0 f@)=000000
0000z 0000 10000000000

(3) 8uoOomO
+J13 + /9 + 2417 + /9 — 2417

0000000 = 0o00oooooooooooooo@ oooo f(p)oooooog f(r)=00
0oo0ooooooooooo

©ooooo00000oodmakoto



gboogn 2000000000000

- |DDDDDDDDI

SOOOO
e
(2 1
(3 RS
(e

Doooooo
(UDooooo
QDoooooo
CAJoO

SOOOO0
R
(2
B [t

(IDoooooo
(AJoO
(IDooooo

N

©ooooo0000onoodmakoto



20lb000000o0oooo gg

SOooon
2
(D) x<0, 10g2<x
(2) ooooo
(3) x=2,4
R (1) f(x)=zx'—6222—104x — 27
(2) V134 J9+ 2V17 + V9 — 2417, VI3 — V9 + 2417 — J9 — 217
—VI3+ 9+ 2J17 — J9 — 2J17, —V13 —J9+ 2417 + /9 — 2417
ooooo
(3) DooooOooOoO
D V134 J9+ 217 + J9 — 2417, @ —VI3+/9+ 2417 —J9— 2417
® VI3 — 9+ 2J17 — J9 — 2417, @ — V13— 9+ 2V17 + J9 — 2417
Se 1,
8 Sfl—j(l aB)
(2) DDDDDD%
_ 5 41 4 3
a k—LZﬁL&5DDDDDDDDDDDD1WO,TO,m
1
(2) v
n—2 n
n000000 (%)2 —(%y
3 n—1 n—1
nO000000 (%)2 —(%)2
SOooon
(1) QR:2bx+ (B —Dy—202=0
a—2>b 2ab
(2) R<ab—1’ ab—l)
_ 2abla+Db)
@ T= ab—1
(4) a=2DDDDTDDDDD£¥

B
(2)

(3)

8 o
(2)
(3)

1

1 3
2 >

Po(1) = L5, Po(2) =0, Po(3) =5, Po(d) =0, Py(5) =~

1

4
{nDDDDDD Pﬂwzr%

nOoooooo P,(3)=0
18 + 2413
f(x) = z*— 6222 — 104x — 27
VI3 + V9 + 217 + V9 — 2V17, VI3 — 9+ 2V17 — /9 — 217
—VI3+ V9 + 2J17 — V9 — 217, —VI3— 9+ 2J17 + V9 — 2J17

©ooooo00000oodmakoto



